Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C320003 Date: 01/01/2016
Subject Name: Advance Mathematics (Group-2)
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

oA W

No.  Question Text and Option. sl e (AscAl.
The distance between the points (2,3) and (3,4) is

L A 2 B. 1
C. 2 D.  None of above
A (Glg A (2,3) U (3,4) AR of R

L. A 2 B. 1
C. V2 D A5 g tél

Mid-point of line segment AB is M(5,-2) and A(2,-7) then co-ordinate of B is

A (0.8) B. (83)
C. (0,3 D.  None of above
%l 4B o Hg (6lg M(5,-2) Slal el A(2,-7) 8, dl B oll AlH
. A (0,8 B. (83)
C. (03) D. A5 ug o8l
If the vertices of a parallelogram are (3,-4) ,(x,0),(-6,5) and (-2,y) respectively, then
3 X = and y=
A (1)) B. (1-1)
C. (21 D. (1,2
U ARGy 2518l oll RQRAIgA UaisA (3,-4) ,(%,0),(-6,5) W (-2,y), cll
3. X=__ ¥ely=_
A (-11) B. (1,-1)
C. (21 D. (1,2
If a straight line | makes an angle of 120° with positive direction of X- axis then slope
m=
4 A1 B. 3
V3
C. -3 D. None Of Above
YRUL | X-a8 AU 120° oll WRI tolld AlRWL oll @l m = N
y A1 B. 3
' V3
C. -3 D A5 ugl «1dl

5. Y- intercept of line 3x -5y +8 =0 is
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10.

10.

11.

A -8 B. 8

5 5
C. 8 D. -8

3 3
QUL 3x -5y +8 =0 oll Y — A US
A. -8 B. 8

5 5
C. 8 D. -8

3 _ _ _ 3 _
The slope of line passing through the points A(-3,5) and B(2,-4) is
A -9 B. -5

5 9
C. 5 D. None Of Above
(g1l A(-3,5) wal B(2,-4) Ml uaRk adl vl ol aln
A -9 B. -5

5 9
C. 5 D Qs ugl otdl
The angle between two straight lines x+y =0 and x-y = 0 is
A T B. T

2 2
C. = D. None Of Above
RURAL x+y = 0 Al x-y =0 A ol Yel R
A T B. T

2 2
C. n Do Qs ugl oldl
Two lines ; and [, are parallel if their slopes become
A. my #m, B. my*m,=-1
C. m=x*m,=1 D. my=m,
QL RUIRAL I; WA L, AHIAR 8l Al dAHell Blo L2
A. my #m, B. my*m,=-1
C. m=x*m,=1 D. my=m,
Perpendicular distance between two parallel lines [;: ax +by+c;= 0 and [,: ax
+by+c;=0is
A. — laxi+bys 4l B. -l

P Va?+b? p Vaz+b?
C. g=lazcl D. None Of Above

VaZib?
A UHIAR RUURAL I;: ax +hy+c;= 0 3ol [,: ax +by+c;= 0 AR of AMBAR
8.

A. — laxi+bys 4l B. -l

P Ve P= T

c1—C

Cd=2 D Qs ugl «18l
Equation of circle having centre (0,0) and radius 3 is
A x?2+y%=9 B. x*+4+y?=3
C. x24y2+3=0 D. x*+y?=9
3o% (0,0) Aol (A%l 3 fla Al dda of A{ls2w ®
A x*+y*=9 B. x?+y?=3
C. x24y2+3=0 D. x%*+y?=9
For Circle x% + y?+8x+6y = 0, centre is .
A (4,3) B. (-4,-3)
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Q.

12.

.

13.

3.

14.

.

15.

Q.

16.

1S.

17.

9.

C. (8,6) D. (-8-6)

Ao x2 + y2+8x+6y = 0 IS Bow .
A (4,3) B. (-4-3)
C. (8,6) D. (-8,-6)
Equation of tangent at point (-6,4) on circle x2+y? =52 is
A 3x—-2y+26=0 B. —-3x-2y+26=0
C. 2x+3y=0 D.  None Of Above
ddn x2 + y?= 0 URell (g (-6,4) Wl ddnell ulse] wHls0
A 3x—-2y+26=0 B. —-3x-2y+26=0
Slope of line ax +by+c =0 is
A b B. —¢

a a
c. ¢ D. —@

b b

QUL ax +hy+c = 0 ol 8lo R
A b B. ¢

a a
c. Z¢ D. @

b - b -

If the points (4,2) ,(7,x) and (a,7) are co-linear points then x =
A B. 5
C. D.  None Of Above

2
0

B\ (GlgA (4,2) ,(7,) WA (a,7) AW SlA A x =
2 B. &

0

0 >

D. Qs uw o8l

If f(x) =2*then f(4) — f(3) = )
A. b B. 0

C. 8 D. None Of Above
A f(x)=2* A f(4) - f(3) = .

A. 5 B. 0

C. 8 D Qg ugl oldl
If f(x) = sinx then f (g— x) =

A. cosx B. —sin x

C. tanx D. —cosx

A f(x) = sinxrnf(g—x) =

A. cosx B. —sin x

C. tanx D. —cosx

If f(x) =e*then f(0) = .

A 0 B. 1

C. 1 D. e

°af(6;c) =e*dl £(0) = .
A 0
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18.

.

19.

.

20.

0.

21.

1.

22.

2.

23.

?3.

C. 1
e

. ah-1 _
limp_o—— =
A 1
C. log,e

. ah-1
hmh_)oT =
A 1
C. log,e

. 5n2+3n+1 _
hmn_)oo T
A 0
C. 9

. 5n2+3n+1 _
llmn_)ooT =
A 0
C. 9

. x3+5 _
llmx_)z % =
A 13

7
c. 3
4

. x345 _ _
llmx_)z % ==
A 13

7
c. 3
4

. sinmf _
limg_q sinnf
A m
c. m

. " sinmf _
limg_o sinn®
A m
cC. m

n
limn_,oo% =
A 1
C. n

. 1
hmn_,oo; =
A 1
C. n

. 6% —2%
lim,_,, — =
A. log,6
C. log.3

. 6% 2%
lim,_,, — =
A. log,6
C. log.3

log,a
None Of Above

log,a

As Ul ol

a1

w o1

None Of Above

0

As uoL o8l

log, 2
log; e

log, 2

log; e
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24,

RY¥.

25.

QU.

26.

6.

217.

R39.

28.

RC.

29.

RC.

30.

lim,o (1+2)" =

A. 10 B. 7
e’ e10
C 1 0
¢ 2
lime o (1+Z)'=_
A 10 B 7
oe7 ) e10
C. 1 0
e
If f(x) = 2x+ 1and g(x) = x? — 2 then (fog)(x) =
A 2x+1 B. 2x2%+3
C. 2x2-3 D. Impossible
‘ﬂf(x) =2x+1uAg(x) = x2 -2 Al (fog)(x) =
A 2x+1 B. 2x2%+3
lim e¥+sinx—1
x—0 x -
A 1 B. 2
2
C. 3 D. 0
li e¥+sinx—-1 _
my,o———=___
A 1 B. 2
2
C. 3 D. 0
If f(x) =sinx then f’ (g) = .
A 0 B. 1
C. -1 D. =
% f(x) =sinx cl f' (g) =
A 0 B. 1
C. -1 D. =«
d . 3N
= (3sinx —sin®x) =
A. -cos3x B. 3cos3x
C. 3cosx —cos3x D. sin3x
;—x (3sinx —sin®x) =
A. -cos3x B. 3cos3x
C. 3cosx —cos3x D. sin3x
A rodxy _
dx *)=___.
A, 4x3%xlog,3 B. 3%
C. log.3 D.  None Of Above
4 roaxy _
dx ")=____.
A. 4x3%xlog,3 B. 3%
d - —
— (e logx) — )
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A 1 B. -1
X X
c. 1 D. -1
x2 xZ
a e—logx) —
dx _
A. }_ B. -1
X X
cC. 1 D. -1
x2 xZ
d ) _
= log(sinx) =
A. cosecx B. cotx
C. —cotx D. tanx
:—x log(sinx) =
A. cosecx B. cotx
C. —cotx D. tanx
a -1(*) =
dx tan (a) B
A. 1 B. X
x2+q2 x2tq?
C a D. a
X2t g2 x2tq?
a -1 (%) _
dx tan (a)
A 1 B X
x2+a2 x2+a2
C a D. a
) 2+ g2 x2tq?
- (cosx°®) =
A. —cosx® B. sinx°
C. -—sinx° D. T _.
180 sin x
;—x (cosx°®) =
A. —cosx® B. sinx°
C. —sinx® D. T .
——sinx
180
:—x (cosec? x — cot? x) = .
A 1 B. 0
C. secx—tanx D. None Of Above
;—x (cosec? x — cot?x) = .
A 1 B. 0
C. secx—tanx D. A uel 01[5
If xy=1 thend—y =
y dx —
A Y B. -1
X X2
c. X D. None Of Above
y
o xy=1 ﬂdz = .
A Y B. -1
xx X2
c. Z D. Qs ual R
y

If x = sinfand y = cos@ then Z—z:
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36.

37.

30.

38.

3¢C.

39.

3¢.

40.

¥0.

41.

¥q.

42.

¥R.

—tan @
cotd

—tan @
cotd

e
None Of Above

8.

e

As ULl o3

e
Equation of moving particle s = t3 + 3t then velocity (v) at time t = 0 is

A. tan@ B.

C. —cot8 D.

%l x = sin@ M y = cos cll Z—z:

A. tan@ B.

C. —cot8 D.

Minimum value of f(x) = x log, x is

A1l B.
e

C. —_1 D.
e

F(x) = xlog, x oll oot (Buct

A1l B.
e

C. —_1 D.

A. 4 .cmlsec B.

C. 3cm/sec D.

0
None Of Above

olld sl 50 of A5V s =3+ 3t O Al t=0 WL Aoll A v =

AL,

A4 2Ass
C. 3Ass
d _

= (cotx) =

A. cosec?x

C. sec?x

d —

= (cotx) =

A. cosec?x

C. sec?x

o a’y _
If y = sinx then—3 =

Ay
C. —sinx

o a’y _
°o-’1y = sinx cl e
Ay
C. —sinx

2

If y=e** then %:
A e?
C. 16y

_ d*y _
°za y= €4x ('n E_
A et
C. 16y
If f (x) = logvx?+1 thenf'(0) = )
A 2
C. 0
°af(x)=log\/x2+1 t(‘ﬂf’(O)z .
A 2
C. 0

B.
D.

B.
D.

B.
D.

B.
D.

0

As Ul i@

sin? x
None Of Above

sin? x

As ug i3

sin x

4y
None Of Above

4y
As UL (3

é“—»

éln—x
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43.

¥3.

44,

Y.

45.

¥,

46.

¥S.

47.

¥9.

48.

¥C.

If x =at? and y = 2at then Z—i’:
At

C. at

o x = at? Vol y=2at cll Z—z:
At

C. at

d
— (cos®x) =
dx

A. sindx

C. 3cos3x

a 3. —
. (cos3x) =

A. sindx
C. 3cos®x
[(sec? x — tan? x)dx = +C
A. X
C. secx
[(sec? x — tan? x)dx = +C
A. X
C. secx
1
Jomdx=___ +c
A. 1 1 |X - a|
2a 08 x+a
C. 1
alog\/x +a
1
Jomde=___ +c
A. ilo |x — a|
2a & x+a
C. 1
alog\/x +a
[ edlosxdx = +C
A. ealogx
C. ax¢1
[ edlosxdx = +C
A. ealogx
C. ax¢!
1_ i X =
f(x xxz)e dx=___ +¢C
A e
x
C. xe*
1_ 1)\ «x -
f(x xxz)e dx=___ +¢C
A e
x
C. xe*

| Q| L

&+ | Q| =

3x?sin? x
-3sin x cos? x

3x?sin? x
-3sin x cos? x

sec3 x +tan3 x
tan x

sec3 x +tan3 x

tan x

1 l x + a|
2a 8 XxX—a
None Of Above
1 l x + a|
2a 8 X—a
As UeL @
xa

xa+1

a+1

xa

xa+1

a+1

ex

x2

(x —1)e*

ex

xZ

(x —1e*
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49,

¥C.

50.

Yo.

51.

uq.

52.

UR.

53.

u3.

54,

uy.

fre oo
— dx = +
[T = —*¢

A fx) B. loglf(x)l
C. f'(x) D.  None Of Above
fr(x) —
[ o0 dx=____ +¢
A fx) B. loglf(x)l
C. [ D Qs ug o
f25x2 dx =
A 117 B. 133
C. 125 D. 39
f25x2 dx =
A 117 B. 133
C. 125 D. 39
If f'(x) = x21+1 and f(0) =0 then f(x) = __
A x B. «x?
C. tanlx D. x+tanlx
Bf(x) = = UA () =0Af() = ___
A x B. «x?
C. tanlx D. x+tanlx
[sin?2x dx = +c
A. cosdx B. sin2x
C. x N sin 2x D. x sin2x
2 4 2 4
[ sin? x dx = +c
A. cos3x B. sin2x
C. x sin2x D. x sin2x
, 22 4 2 4
x —
fl x2+41 dx =
A 5 B.
logi log?2
2
C. log5 D g2
2 2x 5
fl x2+1 dx =
A 5 B.
logi log?2
. , 2
C. log5 D 10g§
The area enclosed by the curve y = x2 , the X-axis and line x=2 is units.
A 32 B. 16
3 3
C. 8 D. 64
3 3
As y = x2, X-wel Wl L x=2 Yl AAAA Ygal of AAsn 8.
A 32 B. 16
3 3
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55.

uy,

56.

us.

S7.

9.

58.

uc.

59.

ue.

60.

SO.

61.

C. 8 D 64
3 3
J§ cos3x dx =
A 0 B. &
cC. T D. T
. 2 6
J§ cos3x dx =
A 0 B. =
cC. T D. T
2 6
[ cosecx * cotx dx = +C
A. —cotx B. —cosecx
C. cotx D.  None Of Above
[ cosecx * cotx dx = +C
A. —cotx B. —cosecx
S et
A. 1 (% B. -1 (X
sin (4) cos (4)
X
C. tan-1 (Z) D. None Of Above
== +e
_x D —
A. so—1 f B. -1 f
Sin (4) CoS (4)
¢ tan(3) D As ug «R
4
J_, sin® x dx =
A 0 B. 1
c. T D
- 2
J_, sin® x dx =
A 0 B. 1
c. T D.
2
[Vx dx= +C
3
L e 1)
X
C x% D.  None Of Above
[Vx dx= +C
3
o ° 2
X
C. D As ug o3
is function whose derivative and integration are same.
A a* B. e*
C. logx D.  None Of Above
Bo] [Ascot Wl AsAol UV 8l Ad [@QRA 8.
A a* B. e*

The mean of first five odd natural number is
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SA.

62.

SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

67.

SO.

68.

A 3 B. 5

C. 6 D. 7
wdcll uiu A8l Uislds iva ol Hers ®.
A 3 B. 5
C. 6 D. 7

Formula of meadian for odd no. observation is

B.

A. (g) o observation (”T“)th observation

th
C. (%_I_ 1) observation D. None Of Above
A AvAL ol WAAlSeN U2 1A of YA 0.
A. Y B. Y
(f) WA S ("—“) WAASal
2 2
. Y D.
c (3+1)" actcllset As ugl i3
For the observation -5,5,-2,8,-8,6,0,-1 and -10 ,median =
A 0 B. 1
C. 2 D. -1
S -5,5,-2,8,-8,6,0,-1 Aol -10 HIZ , HLAX =
A 0 B. 1
C. 2 D. -1
If mean of data 4,7,6,k,5,9 is 6 then k =
A 3 B. 4
C. 5 D. None Of Above
g WS 4,7,6,k5,9 oll HeAS 6 O l k =
A 3 B. 4
C. 5 Do g ugl o3

Formula of mean deviation from meadian is

. 1 .
A 6M=EZIxL-—M| B M= lei_Ml

C. sm= lei _ x| D.  None Of Above
Heae ol AR [Qudst of Y 0.

: 1 :
A 6M=E2|xl~—M| B M= lei_Ml
C. sm= ZIxi — x| D. Qs ugl -1
Relation between Mean , Median and Mode is .
A 2Z=3M-2X B. 3Z=M-2X
C. Z=3M-2X D. X=Z-3M
HERLS, HERRE ol GEAS <R oll oltl 8.
A 2Z=3M-2X B. 3Z=M-2X
C. Z=3M-2X D. X=Z-3M
The range of the data 17,15,25,34,32 is .
A. 18 B. 19
C. 34 D. 17
A sall 17,15,25,34,32 oll (AR 0.
A. 18 B. 19
C. 34 D. 17

Formula of mean for discrete group data is x =

11/12



SC.

69.

Sc.

70.

90.

A. %X B. f=zxi

X =
n
C. _ XYfixi D. None Of Above
X =
n
At Aol HRAl 12 Htaus of Y2 8.
n
C. ._Lfix D As ual o
n
If given data are 3,2,6,5,7,3,8,10,3,14 then Mode is :
A. 2 B. 4
C. 3 D. None Of Above
Sl AU AU Sl 3,2,6,5,7,3,8,10,3,14 HIE HEAUS
A. 2 B. 4
C. 3 D. Qs ual o
Mean of the first n natural number is .
A B. n—1
2 2
c. n 41 D. n+1
2 2
USEAL n Uslds vl ol HeaLs 8.
A B. n—1
2 2
c. n 11 D. n+1
2 2

*hkkkhkhkkkhkhkkkihkiik

8.
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